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fly (17-%.%)
] fly (.50

I 40 R—Y —FBTDHIS(LEMS 13 FB DHIX)
i8] She looked after her old father.
] She looked after her old mother.

It 41 R—L EAB4FBDHIX
i8] To study English is not easy. = It is not easy to study English.

] To study English is not difficult. = It is not difficult to study English.

| 44 R— EM5 5 FBDOHIX
25] Do you know the reason why you did this?
] Do you know the reason why he did this?

| 44 R— Ehvis 6 TFB DHIX
28] This is how we solve the problem.
] This is how we solved the problem.

|} 45 R— ThHis 4 FBDHIX
22] You shall have this as prlze
] You shall have this as a prize.

|t 46 R—2 LEhis 4 BB DHIX
[E2] Would you mind if I smoke here?
[IE] Would you mind if I smoked here?

Wi 46 R—2 M 6 FBEDHIX
[2] What are you doing?
[IE] What are you reading?

WA 47 R—2 Ehn 1 FEEDHIX
[E2] We'll be flying over Pacific about this time tomorrow.
[IE] We'll be flying over the Pacific about this time tomorrow.
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WA 47 R—2 Ehis 2 FBDOHIX
] The flower will be opening when we come here.
1E] The flower will be blooming when we come [homel].
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WA 47 X—2 £ 5 BB OBIX

[E2] She has just taken in the washings.
[IE] She has just taken in the wash.

IDE-',IJHH 50— EMn 4 EBDOHIX

£2] It is natural that he should angry with this.
[IE] It is natural that he should be angry with this.

WA 51 R—S EhS 1 BEOBIX
[Z2] She may as well angry with him.
[IE] She may as well be angry with him.

W7 56 X—2 ThHn 3 FHDHIX
[Z2] I have not more thank four dollars.
[1IE] I have not more than four dollars.
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